Subject: Re: how is that possible ?
Posted by Lajos Foldy on Thu, 23 Aug 2012 15:57:39 GMT

View Forum Message <> Reply to Message

On Thursday, August 23, 2012 5:30:35 PM UTC+2, nata wrote:
Hi guys,

Could you explain this ?

help, azimuth

AZIMUTH LONG = 34

x1=ww[pos] MOD sz_proj[0]

AZIMUTH LONG = 143
AZIMUTH LONG = 143
help, ww, pos, sz_proj

WwW LONG = Array[45]
POS LONG = 0
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> help, azimuth, x1
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> SZ PROJ LONG = Array[2]
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; test.pro

pro test_pro, azimuth, x1
help, azimuth

x1=143

print, ‘after x1=143'
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help, azimuth, x1
end

pro test

azimuth=34

test_pro, azimuth, azimuth
end

; test.pro end

IDL> test

% Compiled module: TEST.
AZIMUTH INT = 34
after x1=143
AZIMUTH INT
AZIMUTH INT
IDL>

143
143

regards,
Lajos

Subject: Re: how is that possible ?
Posted by natha on Thu, 23 Aug 2012 16:28:59 GMT

View Forum Message <> Reply to Message

You are completely right ! Thank you lajos,
nata
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